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86&BRZ Class (58)

Rank| Car No. K4 £ 1st 2nd
1 2|8 H &5, |RX/\JLBRZ 01:34.752| 01:35.523| 01:34.752
2 3|IUE XBR | R/\JLBRZ 01:35.230] 01:39.074] 01:35.230
3 1|&ZE E& |[FMF4%/nN\FOH 01:37.944| 05:52.433| 01:37.944
4 48 EFFX |R/NLBRZ 01:54.045] 01:54.045| 02:00.526
5 5|[RE [B¥F |ZbTLU2H— 86 01:59.999] 02:13.641] 01:59.999

IMPORT Class(48&)

Rank| Car No. K4 EX3 1st 2nd
1 71158 F2 [DEKOTTO 01:37.408] 01:39.623| 01:37.408
2 AENTEE I NT=% 01:44.424] 01:44.981| 01:44.424
3 ol;hE HA  lalfa-MiTo 01:56.089] 01:57.992] 01:56.089
4 gllmE EF [FoTL2Ah— O—/"—=302:06.319]02:14.938] 02:06.319

C2 Class (b&)

Rank| Car No. K4 EX3 BestTime 1st 2nd
1 11|=% #HE [T YHFRX-8 01:36.829| 01:36.829] 01:37.205
2 12[H0 FA  [O0/hEWAKO'SHTF—/| 01:40.279] 01:44.243] 01:40.279
3 14[F% Ex 25—/ 01:47.582|= 23— X| 01:47.582
4 13IlE B  [24v2aGT 01:50.805| 01:53.389] 01:50.805
5 10[fFH B [¥YFRX-8 01:51.546] 01:52.621] 01:51.546

C1 Class (98

Rank|Car No. K% EX3 1st 2nd
1 20| 2 WRX-STI 01:35.495] 01:43.123] 01:35.495
2 21| = RX-7 01:36.772] 01:36.772|=SX0—X
3 16[lUsh B [LASKh-HS 01:37.980( 01:39.086/ 01:37.980
4 15|30H & S Y —T 9 01:38.166/ 01:38.166[S 23— X
5 1915 ;¥BH  [ER34RDNASA2 01:38.418] 01:40.498] 01:38.418
6 17| XH 3 | 7T7Uo9ELSA 01:53.097| 02:04.668] 01:53.097
7 22|3A EfL  |TH—KTAKEGOOD 01:53.554] 01:53.554|=X0—X
8 18[FHH 1EH  [EFRIX 01:54.105| 01:56.354] 01:54.105
9 23|Hh Bk |RX%%%5%55%5-7 06:49.555|TX3—X[ZX3—X

EXPERT Class (38&)

Rank| Car No. K4 B 1st 2nd
1 24|EEFE Eft  [NRIFZJILIUKLRTEwWS [01:27.963] 01:28.363] 01:27.963
2 25| EB & &, A - S2000 01:28.444] 01:33.767] 01:28.444
3 26|58 &  [HMJUGS H— 01:36.991( 01:52.846| 01:36.991

CLOSED Class (658)

Rank| Car No. K% EX3 1st 2nd
1 2|1k BE2— |5 H—IK1i—Y3v8MR 01:42.247| 01:52.539( 01:42.247
2 27111 3ER [FEAN\FOY 01:43.958] 01:43.958] 01:44.428
3 [ BEZ  [SoU—IR 01:46.720] 01:46.720] 01:49.052
4 28| b =ERL (A NTO—FKRE— 01:54.352| 01:55.945| 01:54.352
5 29|E) A |[FXaHhToSALALLRX-7 [02:03.936]=23—2] 02:03.936
6 1|&H B NFOS 02:16.192]=Xx3—X[ 02:16.192




